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[EMe ] AfnEnE £ EiE4 601t (201545 A 7)) ME =B R

BRI (Fh)
4 A 6 7 8 9 10 11 12 1 2 3 4 5 6~5H Rit
B2 11 3% 38 38 38 38 38 38 38 38 38 38 38 38 38
453 L 3,597| 3,554| 3,343 3,693| 3,557 3,459 3,422| 3,636 3,376| 3,716] 3,214 3,401 41,968
RS 3,290 3,579| 3,420 3,353| 3,246 3,622 3,707 3,780 3,382| 3,834 3,754] 3,584 42,552
16 %t ATERTEE 1.09 0.99 0.98 1.10 1.10 0.95 0.92 0.96 1.00 0.97 0.86 0.95 0.99
(R A k) — 0.99) | 0.94) | (1.10) | (0.96) | (0.97) | (0.99) | (1.06) | (0.93) | (1.10) | (0.86) | (1.06) =
[R5 LE 4,891 4,708 4,768 5,114 4,690 5,111 5,087| 4,808 4,713 5,145| 4,471 4,794 58,299
(BEREA.RI5%)| BIE 5,102 5,262| 5,379 5,052| 4,735| 5,176| 5,641 5,028  4,629| 5,346 4,695 4,796 60,840
23 3t ATEXEE | 0.96 0.89 0.89 1.01 0.99 0.99 0.90 0.96 1.02 0.96 0.95 1.00 0.96
(R A k) — 0.96) | (.01 | 1.07 | (092 | (1.09) | (1.000 | (095 | (0.98) | (1.09) | (0.87) | (1.07) =
ey o LE 964 1,297 1,328 1,312 1,166 1,214 1,297 1,278 1,107 1,344 1,062 1,058 14,428
(BR.3—9R)| §#IE 1,161 1,087 1,244 1,146 1,010 995 1,203 1,147 1,029 1,093 1,112 876 13,104
14 %t BIEXTEE | 0.83 1.19 1.07 1.15 1.15 1.22 1.08 1.11 1.07 1.23 0.95 1.21 1.10
(R A k) — (1.34) | (1.02) | (0.99 | (0.89) | (1.04) | (1.07) | (0.98) | (0.87) | (1.21) | (0.79) | (1.00) =
LT L 209 225 197 223 233 221 192 229 219 233 219 208 2,609
RS 214 227 227 209 230 237 231 236 212 229 241 202 2,695
_ ATEXEE | 0.98 0.99 0.87 1.07 1.02 0.93 0.83 0.97 1.04 1.02 0.91 1.03 0.97
(R A k) — (1.08) | (0.88) | (1.13) | (1.05) | (0.95) | (0.87) | (1.19) | (0.96) | (1.06) | (0.94) | (0.95) =
HE LE 1,858 1,933 1,779 1,983 1,991 2,037 1,935 1,779 1,824| 2,011 1,934 1,770 22,834
(—huE.ov7rE)|  BIE 1,852 1,978 1,849 1,869] 1,898 1,981 1,940 1,725 1,836 2,014| 1,864 1,797 22,603
21 3t ATERTEE 1.00 0.98 0.96 1.06 1.05 1.03 1.00 1.03 0.99 1.00 1.04 0.99 1.01
(R A k) — (1.04) | 0.92) | (1.11) | (1.000 | (1.02) | (0.95 | (0.92) | (1.03) | (1.10) | (0.96) | (0.92) =
HE= L 4,310 4,213 3,177| 4,107 3,799 3,848 3,761 3,772| 4,265 5,183 3,971 3,307 47,713
(k3 4182 4,379] 3,356| 4,257 4,123| 4,385 4,103| 4,214 4693| 5,619| 4,388] 3,645 51,344
10 % ATERTEE 1.03 0.96 0.95 0.96 0.92 0.88 0.92 0.90 0.91 0.92 0.91 0.91 0.93
(R A k) — 0.98) | (0.75) | (1.29) | (0.92) | (1.01) | (0.98) | (1.00 | (1.13) | (1.22) | (©0.77) | (0.83) =
AR L 2,492 2,759 2,540 2,832| 2,788 2,954 2,757 2,389 2,503| 2,706| 2,378 2,412 31,510
(k3 2,432 2,602] 2,439 2,360 2,564| 2,880 2,863| 2,633] 2,505 2,868 2,604 2,576 31,326
13 4 ATERTEE 1.02 1.06 1.04 1.20 1.09 1.03 0.96 0.91 1.00 0.94 0.91 0.94 1.01
(AL A k) — (1.11) [ 0.92) | (1.12) | (0.98) | (1.06) | (0.93) | (0.87) | (1.05) [ (1.08) [ (0.88) | (1.01) =
B L 18,320 18,688| 17,132 19,264| 18,225| 18,843 18,450( 17,889| 18,007 20,339 17,250] 16,952 219,360
=1 (k3 18,234 19,114 17,914 18,247| 17,806 19,276| 19,688 18,763| 18,285 21,003 18,657] 17,475 224,463
38 4 ATERTEE 1.00 0.98 0.96 1.06 1.02 0.98 0.94 0.95 0.98 0.97 0.92 0.97 0.98
(AT A t) — (1.02) | 0.92) | (1.12) | (0.95 | (1.03) | (0.98) | (0.97) | (1.01) [ (1.13) | (0.85) | (0.98) =




(A A ) s X £ EooiE4 604t (201545 A 77) MiE RIRHEB K

BT (FKL-FhY)

4 18 B 6 7 8 9 10 11 12 1 2 3 4 5 6~58 Rt
EIEEa 29 29 29 29 29 29 29 29 29 29 29 29 29
=50 L4 2,923 3,164 3,003| 2,479 2,738| 2,833 3,393 3,408| 3,205| 3,407 3,164] 2,810 36,527
Al 3,187| 3,354 3,518 2,940| 3,306 3,494 3,762 4,154| 3,522 3,750 3,069 2,781 40,836
19 % BIEXTEE | 0.92 0.94 0.85 0.84 0.83 0.81 0.90 0.82 0.91 0.91 1.03 1.01 0.89
(ATALL) — (1.08) | (0.95) | (0.83) | (1.10) | (1.03) | (1.20) | (1.000 | (0.94) | (1.06) [ (0.93) | (0.89) —
e L 5,663 5,793 5,843| 5,710| 5,944 6,198 6,469 6,589 6,107 6,437 5789 5,856 72,397
I3 5,332 5,880 6,013] 5,422| 5,808 6,236] 6,691 6,535 5,700 6,096] 5,850] 5,726 71,290
14 % BT L 1.06 0.99 0.97 1.05 1.02 0.99 0.97 1.01 1.07 1.06 0.99 1.02 1.02
(ATALL) — (1.02) | (1.01) | (098 | 1.049 | (1.04) [ (1.04) | 1.02 | 093 | (1.05 [ (0.90) | (1.01) —
p— L 607 667 666 608 600 636 649 660 652 670 701 649 7,766
Al 585 681 672 622 630 659 717 737 620 638 638 623 7,824
13 % B Xt L 1.04 0.98 0.99 0.98 0.95 0.96 0.90 0.90 1.05 1.05 1.10 1.04 0.99
(ATALL) — (1.10) | (1.00) | (0.91) | (0.99 | (1.06) | (1.02) | (1.02) | 0.99 | (1.03) [ (1.05) | (0.93) —
=&t L4 469 496 504 517 523 563 633 627 569 576 582 543 6,601
(Lpa. BEE/R—%)| R 520 555 532 489 493 543 613 597 536 517 566 507 6,468
13 % BIEXEE | 0.90 0.89 0.95 1.06 1.06 1.04 1.03 1.05 1.06 1.11 1.03 1.07 1.02
(ATALL) — (1.06) | (1.02) | 1.03) | q.0D» | 1.08 [ (1.12) | 099 | 091 | 1.01) [ (1.01) | (0.93) —
=R A LE 84 104 105 104 98 121 109 118 112 126 99 104 1,284
(FRI7ILh, HEE) HI4E 90 104 106 104 106 113 140 114 100 134 82 85 1,279
8 &t BIEXTEE | 0.93 1.00 0.99 0.99 0.92 1.07 0.78 1.04 1.12 0.94 1.21 1.22 1.00
(ATALL) — (1.24) | (1.01) | (0.98) | (094 | (1.23) [ (0.90) | (1.08) | (094 | (1.13) [ (0.79) | (1.05) —
it & & L 340 421 395 364 391 376 402 433 397 448 435 365 4,767
(RE. FHEY—5%)|  RIE 365 383 389 370 395 404 421 429 395 413 410 363 4,738
12 % BIEXTEE | 0.93 1.10 1.02 0.98 0.99 0.93 0.95 1.01 1.00 1.09 1.06 1.01 1.01
(B1AtE) — (1.24) | 0.94) | (092 | 1.08 | (096 | .0m | 1.08 | .92 | 1.13) [ (097 | (0.84) —
pipey EE:3 10,085 10,646| 10,517| 9,781 10,295 10,726| 11,654 11,835 11,041 11,663| 10,771 10,327 129,342
&5t Al 10,080 10,958| 11,230| 9,948 10,737 11,450| 12,344| 12,567 10,873| 11,547| 10,614} 10,086 132,435
29 4t BT L 1.00 0.97 0.94 0.98 0.96 0.94 0.94 0.94 1.02 1.01 1.01 1.02 0.98
(BTA tk) — (1.06) | (0.99) | (0.93) | (1.05 | (1.04) | (1.09) | (1.02) | .93 | 1.06) [ (0.92) | (0.96) —
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